S AT
HE: FHEZMNE L NSNS (SELRS L/ XNSALZAI)
Bl FHAEEZNS (e ®2l)
2A -3 - S2A(3A) - MISAY - BLES Oil &M N3N Hns2
A= 114,228,252 83,001,631 31,226,621
=2 70,337,800 69,767,800 570,000
7l 27,692,135 197,000 27,495,135
< 16,198,317 13,036,831 3,161,486
FHEZME L NENLH(2ELTNGNL/XSLZAI) 32,046,408 2,673,304 29,373,104
=2 40,000 40,000 0
Jl 26,014,010 0 26,014,010
< 5,992,398 2,633,304 3,359,094
FHMEEAINA 32,046,408 2,673,304 29,373,104
=2 40,000 40,000 0
Dl 26,014,010 0 26,014,010
[ 5,992,398 2,633,304 3,359,094
BBAEES Jelel2ea(Z1)(2E) 4,704,610 0 4,704,610
7l 3,293,220 0 3,293,220
< 1,411,390 0 1,411,390
201 LEH2HY| 4,704,610 0 4,704,610
7l 3,293,220 0 3,293,220
[ 1,411,390 0 1,411,390
05 SEHsr Y| 4,704,610 0 4,704,610
O'28E ZZ[A=S 2|22 4,704,610 0 4,704,610
7l 3,293,220 0 3,293,220
< 1,411,390 0 1,411,390
2RHE=S Jelgi2ea(=2D) 26,226,318 1,557,824 24,668,494
Dl 22,720,790 0 22,720,790
[ 3,505,528 1,557,824 1,947,704
403 XIXISHHISXH=0| & 26,226,318 1,557,824 24,668,494
7l 22,720,790 0 22,720,790
< 3,505,528 1,557,824 1,947,704
01 XXM A =EE X 26,226,318 1,557,824 24,668,494
O'28E SZA=S 22|22 24,668,494 0 24,668,494
Dl 22,720,790 0 22,720,790
[ 1,947,704 0 1,947,704
TEAAI O LTSS A (ALEISXI/FE) 82,063,792 80.281,3% 1,782,3%
= 70,297,800 69,727,800 570,000
7| 1,678,125 197,000 1,481,125
< 10,087,867 10,356,5% 1268,729
FEFHUT| 81,866,792 80,084,3% 1,782,3%
= 70,297,800 69,727,800 570,000
7l 1,481,125 0 1,481,125
[ 10,087,867 10,356,596 1268,729
2T SSUUFY Ay FA(FE 9HE)(=1) 2,981,125 1,500,000 1,481,125
7l 1,481,125 0 1,481,125
< 1,500,000 1,500,000 0
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M A5
T A HHEAFHSXISA (AISISKI/FH)
el FEHZMI|R CERE)
SA- BH - SRI(B) - MRAL - BaS of v o) F o HIDS2
403 XX SHHS K201 2,981,125 1,500,000 1,481,125
pJ 1,481,125 0 1,481,125
< 1,500,000 1,500,000 0
01 XIXIEHHAH=2E2 = 2,981,125 1,500,000 1,481,125
OLATE ZSI3AUFE HE (I Hx) 2,981,125 1,500,000 1,481,125
7 1,481,125 0 1,481,125
= 1,500,000 1,500,000 0
HEASN SAl SEXIF AI(21) 1,976,000 1,625,000 351,000
= 1,520,000 1,250,000 270,000
< 456,000 375,000 81,000
308 AtXIHMISOIH 1,976,000 1,625,000 351,000
= 1,520,000 1,250,000 270,000
== 456,000 375,000 81,000
01 AXSHHBAEES 1,976,000 1,625,000 351,000
OXUEZAN StAl SEXA AIE(=1) 1,976,000 1,625,000 351,000
= 1,520,000 1,250,000 270,000
< 456,000 375,000 81,000
MERF =HA=S HWEOIR XE 1,075,000 1,515,000 440,000
308 AHXISHMISO0I& 1,060,000 1,500,000 440,000
01 AXHHBAEES 1,060,000 1,500,000 2440,000
OrlEz2R: =HXNZ HE0IA A& 1,060,000 1,500,000 440,000
A MM 252 get2s 258 N (=1) 390,000 0 390,000
= 300,000 0 300,000
< 90,000 0 90,000
308 KtXISHHMSOIH 390,000 0 390,000
= 300,000 0 300,000
== 90,000 0 90,000
01 AXHHBAEES 390,000 0 390,000
OoFY MNEEZ LtetEs E328 NF 390,000 0 390,000
= 300,000 0 300,000
< 90,000 0 90,000
ZOHC KIS ME=e AUBSZ K2 (XHHl) 271 0 271
403 XIS MS A0l 271 0 271
01 XtXIEHNI A2 2 = 271 0 271
ZOHQ! KiejMe==el QAUES =z X 271 0 271
HRES(ASW)(ZELXGINL/XSEL AL 83,051 11,930 71,121
BEXE 83,051 11,930 71,121
HEEZ ez 83,051 11,930 71,121
802 Btet=D|E} 83,051 11,930 71,121
03 JIEIEHEI2 S 71,121 0 71,121
OZATE S3YU=(ZA diL) =2
gyl gtz 71,121 0 71,121
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